AR (FERk26E9H)

X5 0445 8
k] (TR0
i B Eh #= (ke) =& (M) FHHE{m(F/ke)
001ESA 674 3,550,564 5,268
04= 1k 37 55,944 1,512
138 = 233 1,758,274 7,546
2152 185 932,925 5,043
22F 450 88 409,739 4,656
24=F 101 175,284 1,735
51 KBk 30 218,398 7,280
002&H1= 1,260 2,050,808 1,628
13/E 623 914,172 1,467
215% [ 96 259,200 2,700
22F 450 511 812,150 1,589
24=F 30 65,286 2,176
0038 IE5H 77 167,281 2,172
2152 66 148,392 2,248
24=F 11 18,889 1,717
004HMLE 457 625,860 1,369
215%[ 12 15,682 1,307
51 KBx 445 610,178 1,371
006kLChH 77 73,706 957
51 KRR 77 73,706 957
00728 2,182 1,521,337 697
215% [ 594 480,550 809
51 KBk 894 444573 497
54F0FR 1L 694 596,214 859
008.5Y 2,874 1,758,568 612
26X &R 450 63,180 140
51 KB 1,637 879,253 537
52EE 178 160,355 901
54F03% 1L 150 60,480 403
10EEIR 459 595,300 1,297
010IFFES (KR) 549 145,187 264
51 KBk 539 139,333 259
62E 18 10 5,854 585
012FEHL 789 679,703 861
51 KB 537 453,815 845
52EE 252 225,888 896
013ZDHHL 2,396 1,415,642 591
24=F 2,010 1,180,764 587
52k & 386 234,878 608
014FEL vHL 134 120,528 899
52E&E 134 120,528 899



015MF={6LvhL 480 207,360 432
10FE 480 207,360 432
016ILA 141 30,834 219
24=F 7 1,890 270
51K 134 28,944 216
o17&IR 20,966 13,594,683 648
025 7% 1,210 521,856 431
04= 3 2,240 1,128,924 504
10F % 480 243,648 508
215% 50 35,640 713
224 50 38,880 778
24=F 5,370 3,612,873 673
51K 8,910 5,817,747 653
52EE 2,604 2,158,611 829
651 & 52 36,504 702
018&H 5 10,374 11,985,212 1,155
13ER 6,916 8,400,847 1,215
2240 850 729,969 859
24=F 776 598,428 771
26 X &R 60 46,656 778
51 KR 982 1,061,813 1,081
50110 790 1,147,499 1,453
019&CL 5,280 3,113,863 590
138 ER 16 9,850 616
224 1,728 857,607 496
24=F 2,544 1,639,522 644
51 KRR 992 606,884 612
021 L f=hvh Ly 192 186,841 973
56 518 192 186,841 973
022 F Dt h Ly 39,651 34,917,515 881
ot1dtiEE 530 610,956 1,153
04'= I 1,060 1,149,120 1,084
24=F 6,000 4,948,231 825
51K 28,575 24,921,255 872
52EE 3,486 3,287,953 943
027HFET=L 1,244 1,235,223 993
087k Ik 50 38,880 778
51K 445 536,787 1,206
5918 38 188,244 4,954
66K I 711 471,312 663
028L &KV 336 318,060 947
51K 336 318,060 947
030F MDftf=Ly 1,612 2,450,460 1,520
04 = Ik 310 418,500 1,350
24=F 20 36,720 1,836
26 &R 9 11,664 1,296



51K 1,014 1,432,418 1,413
52E[E 259 551,158 2,128
0338 I1E3 519 514,815 992
52E[E 519 514,815 992
034H M58 11,700 8,448,754 722
04E I 2,000 1,252,800 626
10FFE 24 17,626 734
138 180 155,520 864
24=F 30 24,840 828
51K 8,876 6,398,981 721
52E[E 590 598,987 1,015
036=It 78,112 75,863,128 971
ot1itiEE 4716 4,893,583 1,038
04E 1 222 272,106 1,226
10F% 423 545,270 1,289
13HE 20,547 19,771,025 962
224 3,200 2,556,630 799
24=F 10,702 9,875,690 923
26 AR 25 10,800 432
51K 34,381 32,925,392 958
52EE 1,835 2,317,219 1,263
54F0&Fr 1L 2,001 2,665,173 1,332
644a if] 60 30,240 504
037F7 9,227 10,466,491 1,134
I B[#::3E] 3,247 3,502,421 1,079
04 = Ik 575 261,630 455
10F% 220 450,252 2,047
13ER 1,802 2,037,044 1,130
224=F 307 505,524 1,647
26 X AR 9 10,573 1,175
51 KR 2,577 2,987,865 1,159
6072 & 490 711,182 1,451
0387=5 26,945 43,559,742 1,617
04'= I 1,160 876,960 756
10F % 70 151,740 2,168
138K 11,306 19,492,535 1,724
24=F 3,887 6,477,491 1,666
26 AR 23 42,150 1,833
51K 9,885 15,889,820 1,607
52&&E 614 629,046 1,025
0394)L)L—Y 2,035 1,768,360 869
24=F 540 459,540 851
51 KR 934 750,060 803
52E[E 561 558,760 996
041(3F% GE) 256 223,128 872
591100 256 223,128 872
0439 978 1,071,252 1,095
08Tk Ik 492 615,600 1,251



51 KR 246 175,176 712
59140 240 280,476 1,169
0459 3= 690 725,298 1,051
51K 400 396,437 991
52E&E 290 328,861 1,134
048H % 179 536,059 2,995
51 KR 179 536,059 2,995
051AE 3,037 1,369,970 451
o1itiE& 1,200 329,184 274
51 KB 366 112,087 306
52E&E 651 636,235 977
60755 820 292,464 357
0521=656 772 779,741 1,010
13 R 370 380,592 1,029
51 KRR 170 129,535 762
52E[E 232 269,614 1,162
054l &= 36 46,584 1,294
265X AR 24 31,754 1,323
51 KR 12 14,830 1,236
057LY 3 1,967 656
51 KRR 3 1,967 656
059hh(FFE 140 143,640 1,026
51 KRR 140 143,640 1,026
0609 Y & 45 71,604 1,591
o1dtiEE 45 71,604 1,591
0619 &L VH 8,836 4,331,014 490
025 % 2,910 1,508,544 518
10FE 530 286,200 540
13HE 1,264 556,524 440
1951 2,504 1,130,436 451
51 KR 1,628 849,310 522
062%°L) Lyhs 538 1,009,164 1,876
215%[ 360 737,424 2,048
51 KRR 178 271,740 1,527
063HLA 5L VH 3,489 6,926,212 1,985
138 = 1,074 813,227 757
51 KB 1,660 4,124,734 2485
52EE 10 27,000 2,700
61 )1l 745 1,961,251 2,633
065F DL H 12,173 3,930,120 323
025 % 3,200 843372 264
138 130 281,880 2,168
215% [ 4,250 124,308 29
51 KBk 3,667 1,120,500 306



525 [E 30 64,800 2,160
601ES 450 877,932 1,951
61& )1l 246 449,280 1,826
644& il 200 168,048 840
0667=C 196 244,145 1,246
ot1dtiEE 55 55,512 1,009
51K 141 188,633 1,338
0721 =A T 6,208 9,741,114 1,569
04E I 359 644,328 1,795
22450 2,651 4,116,960 1,553
23K B 1,653 1,947,132 1,178
24=F 150 207,090 1,381
51 KPR 1,395 2,825,604 2,026
073H M AV 6,166 6,745,321 1,094
04'= 3 357 322,427 903
24=F 1,284 1,229,257 957
51 KRR 3,139 3,282,595 1,046
52EE 1,296 1,790,514 1,382
555 HY 36 38,880 1,080
644a if] 54 81,648 1,512
074FDZ Y 61,857 105,628,811 1,708
10F% 10 29,700 2,970
13ER 3,296 7,127,076 2,162
22450 1,357 3,418,200 2,519
23l B 300 1,016,874 3,390
24=%F 19,167 37,177,798 1,940
51 KRR 34,138 51,605,560 1,512
52E[&E 3,544 5,081,883 1,434
61& )1l 45 171,720 3,816
075 H LAY 399 1,303,732 3,267
1971 2 1,080 540
24=F 12 32,400 2,700
51 KR 268 952,084 3,553
52&&E 105 293,544 2,796
644a if] 12 24,624 2,052
0760 & 36 25,272 702
224=F 36 25,272 702
081F Dt £ BB 711 466,506 656
51K 693 374,220 540
52 E 1 594 594
65168 17 91,692 5,394
085 D 4th 24755 21,218,627 857
o1dtiEE 4,446 689,406 155
04 = Ik 6,708 5,813,684 867
08Tk Ik 208 58,752 282
13FRE 3,758 3,659,226 974
22450 356 620,784 1,744
23 B 263 298,082 1,133



#3
Mo R

24=F
26X #R
51 KB
525 [E
56 E1R
591LA
622 1%

590
63
4,791
2,407
621
369
175

351,783

627,479 1,064
98,194 1,559
5,679,907 1,165
2,619,361 1,047
1,023,842 1,649
185,630 503
44,280 253
387,309,806 1,101




